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2. � f(x) = x arctan x − ln(1 + x2), K f ′(x) = arctan x − x
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. d f ′(0) = 0 9 x > 0 � f ′′(x) > 0 �� x > 0 �
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(2) d lim
x→−∞
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(f(x) − x) = 0 �� f(x) kìC�

y = x− 1, y = x. qkR�ìC� x = 0.

4. (1) �â Rolle ½n, d f(1) = f(2) = f(3) = f(4) = 0 ���

3 ξ1 ∈ (1, 2), ξ2 ∈ (2, 3), ξ3 ∈ (3, 4), ¦� f ′(ξi) = 0 (i = 1, 2, 3); �3
η1 ∈ (ξ1, ξ2), η2 ∈ (ξ2, ξ3), ¦� f ′′(ηi) = 0 (i = 1, 2); �3 ζ ∈ (η1, η2) ¦�
f ′′′(ζ) = 0.
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¦± (−x) \�1�1þ, ��
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= 12(x− 1)(x− 2)(x− 3)(x− 4).
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